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Mathematica

. www.Image.med.osaka-u.ac.jp/member/yoshi/

data = ReadL.ist["d:/presen/oecu_game_lecture/bar_data0.txt", {Number, Number}];
ListPlot[data, PlotJoined -> True];

/Users/w /Desktop/....... /bar_data0.txt

Terminal

xlist
trdata = Transpose[data];
xlist = trdata[[2]];
ft = Fourier[xlist];
ListPlot[Abs[ft], PlotRange -> {{1, 128}, {0, 200}}, PlotJoined -> True];



Mathematica
{-1,0, 1}

ListPlot[ListConvolve[{-1, O, 1}, xlist] , PlotRange -> All, PlotJoined -> True];

{1/13, 3/13, 5/13, 3/13, 1/13}

xlistl

xlistl = ListConvolve[{1/13, 3/13, 5/13, 3/13, 1/13}, xlist];
ListPlot[xlist1, PlotJoined -> True];

xlistl = ListConvolve[{1/13, 3/13, 5/13, 3/13, 1/13}, xlist1];
ListPlot[xlist1, PlotJoined -> True];

ListPlot[Abs[Fourier[xlist1]], PlotRange -> {{1, 128}, {0, 200} }, PlotJoined ->
True]

ListPlot[ListConvolve[{-1, O, 1}, xlistl] , PlotRange -> All, PlotJoined -> True];



Mathematica

www.Image.med.osaka-u.ac.jp/member/yoshi/
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